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ENGLISH VERSION

'Lagrange's Interpolation method with illustration.' Explain.

OR

From the given data, obtain the value of y, for x = 8

using proper method :

10 [15]20
|37 [12]18

Prove that b =

(n—r)t

OR
Explain : The meaning, definition and formula of

combination with illustration.

Find T;, and S;j from the series 12, 18, 24.......... .

OR

Find Tg and Sy from the series 2, 4, 8...........
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(@) Types of determinates.
(b) Using Cramer Rule, solve the equation
x+y=10 and 3x+2y=25.
OR

Using Cramer Rule solve the equation :

X+y+z=6
X+2y+3z=12
3x+3y+z=14

Answer any two questions :
(1) Assumptions of Interpolation.

(2) Explain : Properties of determinant.

14

14

(3) Explain : Geometric progression meaning, definition,

formula for T, and S,

(4) Explain : Binomial Expansion method.
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